
General Knowledge / açWýç»S pûçX / açWýçÌ[ýX pûçX
1. Which bird symbolises peace ?

åEõçX×[ýWý $Jô»çc÷O ̀ ç×Ü™ö» YÒTöÝEõ ?
åEõçX YçFÝ ̀ ç×Ü™öÌ[ý YÒTöÝEõ ?
a) Woodpecker b) Penguin c) Dove d) Hen

[ýçë$RÍôä$RôOçEõç åYemc÷OX EõãYì EÇõEÇõ»ç
EõçPöYç×F åYem+X Eõ[ýÇTöÌ[ý ]ÇÌ[ýGÝ

2. Who among the following was associated with Nalanda University ?
Tö_» åEõçXLX [ýî×Nþ Xç_³Vç ×[ý`Ÿ×[ýVîç_Ì^» _GTö L×QÍöTö %ç×$K÷_ ?
Xç_³Vç ×[ý Ÿ̀×[ýVîç_ãÌ̂ Ì[ý açãU L×QÍöTö ×»K÷ã_X :
a) Alexander b) Hiuen Tsang c) Charak d) Aryabhatta

%çã_EõãL‰øç» ×c÷QöOã¾X $Jôçe $Jô»Eõ %ç ï̂\övô
%çã_EõLç‰øçÌ[ý ×c÷=ãÌ̂ X açe »JôÌ[ýEõ %ç ï̂\övô

3. The Gateway of India is in :
åG$RôOCã¾ %¾ c÷O×‰øÌ̂ ç Eõ’Tö ?
åGOôCãÌ̂  %[ý +×‰øÌ̂ ç åEõçUçÌ̂  ?
a) New Delhi b) Mumbai c) Kolkata d) Chennai

XTÇöX ×V{Ý ]Ç=‘öçc÷O Eõ_EõçTöç æ$Jô~çc÷O

4. The ‘brain’ of the computer is :
Eõ×+QöO$RôOç»» ]×Ø™ö•õ c÷’_ :
Eõ×¶Y=OôçãÌ[ýÌ[ý ]×Ø™ö•õ c÷_ :
a) RAM b) Monitor c) ROM d) CPU

5. Sugar is produced from the leaves of :
×Eõ G$K÷» YçTö» Y»ç æ$JôXÝ éTöÌ^ç» c÷Ì^ ?
åEõçX Gçä»K÷Ì[ý YçTöç åUãEõ ×»Jô×X éTöÌ̂ çÌ[ý EõÌ[ýç c÷Ì̂  ?
a) Gum b) Maple c) Coconut d) Redwood

»[ý» å]Y_ Xç×»Eõ_ å»QöQöOQö
Ì[ý[ýçÌ[ý ]îçY_ Xç×Ì[ýãEõ_ åÌ[ýQö=Qö

6. The longest bone in the body is :
`»Ý»» VÝHïTö] c÷çQÍö c÷’_ :
Ì̀[ýÝåÌ[ýÌ[ý VÝHïTö] c÷çQÍö c÷_ :

a) Femur b) Backbone c) Tibia d) Ulna
QöO[ýï×Øšö å]»ÓV‰ø %XÇLeHç×Øšö %Ü™öfYÒãEõç×œöEõç
=[ýï×Øšö å]»Ì[ýÓV‰ø %XÇLeHç×Øšö %Ü™öfYÒãEõç×œöEõç

AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2010
Class : III

Time/a]Ì^ : 2 hours/ H³RôOç Full Marks/ ]ÇPö X=‘ö» / å]çOô X¶‘öÌ[ý f (30+30+40)=100
INSTRUCTIONS / ×XãVÛ`ç¾_Ý / ×XãVÛ`ç[ý_Ý
1. Attempt All Questions / YÒãTöîEõä$RôOç YÒ Ầ» QöOwø» Eõ»ç / YÒãTöîEõ×Oô YÒä ẦÌ[ý =wøÌ[ý VçC
2. There are four options to every question. Choose the correct option by putting any one of a, b, c or d, in the box

YÒ×Töä$RôOç YÒ`Â» $Jôç×»$RôOç ×[ýEõ” QöOwø» ×VÌ^ç %çä$K÷* £ˆù QöOwø»ä$RôOç [ýç×$K÷ QöO×_Ì^çc÷O EõçbTö UEõç [ýçEõ$JôTö a, b, c [ýç d ×_×F[ýç*
YÒ×Tö×Oô YÒä ẦÌ[ý JôçÌ[ý×Oô ×[ýEõ” =wøÌ[ý åVCÌ̂ ç %çäK÷* a×PöEõ =wøÌ[ý×Oô å[ýäK÷ Yçã »̀ UçEõç [ýçåj a, b, c A[ýe d ×_F*
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7. In Roman numerals the alphabet M stands for :
å»ç]çX aeFîçTö M %çFã» ×Eõ aÇ$JôçÌ^ ?
ÌåÌ[ýç]çX aeFîçÌ̂  M %lùÌ[ý c÷_ :
a) Million (Vc÷_çF / V`_çF)          b)    10 c) 500 d) 1000

8. Fill up the blank :
Fç×_ Pöçc÷O YÉ» Eõ»ç :
Fç×_ LçGçÌ̂  a×PöEõ ×Jôy [ýaçC :
                                     

a)    b) c) d) None

9. The highest award given to a sports coach in India is :
\öç»TöTö åF_-YÒ×`lùEõEõ ×VÌ^ç aã[ýïç¬K÷ YÇ»•õç» c÷’_ :
\öçÌ[ýåTö åF_ YÒ×`lùEõãEõ åVCÌ̂ ç aã[[ýïç¬Jô YÇÌ[ý•õçÌ[ý c÷ã_ç :
a) Dronacharya Award b) Arjuna c) Commonwealth d) Templeton Award

åVÐçXç$Jôç ï̂î YÇ»•õç» %LÇÛX Eõ]XCã¾DU æ$RôO+DRôOX YÇ»•õç»
åVÐçXçJôç ï̂î YÇÌ[ý•õçÌ[ýý %LÇÛX Eõ]XCãÌ̂ _U æ$RôO+DRôOX YÇÌ[ý•õçÌ[ý

10. Brass is an alloy of :
×YTö_ .................... aeEõ» WýçTÇö ?
×YTö_ .................. aeEõÌ[ý WýçTÇö ?
a) Copper & Zink b) Iron and Tin c) Zinc & Silver d) Aluminium & Copper

Töç] %ç»Ó ×LeEõ å_ç %ç»Ó ×$RôOX ×LeEõ %ç»Ó ×$K÷_[ýç» A_Ç×]×XÌ̂ ç] %ç»Ó Töç]
Töç]ç %çÌ[ý ×LeEõ å_çc÷ç %çÌ[ý ×O X ×LeEõ %çÌ[ý Ì[ý»ÖYç A_Ç×]×XÌ̂ ç] %çÌ[ý Töç]ç

11. The place that is known as the Gateway of North-East is :
åEõçX Pöçc÷OEõ QöOwø» YÉ[ýïç‡û_» VÇ¾ç» ]ÇF [ýÇ×_ åEõç¾ç c÷Ì^ :
=wøÌ[ý YÉã[ýïÌ[ý VÇÌ̂ çÌ[ý ]ÇF [ý_ç c÷Ì̂  åEõçX `c÷Ì[ýãEõ :
a) Kokrajhar b) Bongaigaon c) Guwahati d) Rangia

åEõçEõ»çMõç» [ý†çc÷OGgçC m¾çc÷ç$RôOÝ »×IøÌ̂ ç
åEõçEõÌ[ýçMõçÌ[ý [ý†ç+GgçC mÌ̂ çc÷çOôÝ Ì[ý×IøÌ̂ ç

12. The collective name given to Sweden, Finland, Norway and Denmark is :
$JÇôc÷OãQöX, ×ZõXã_‰ø, X»Cã¾ %ç»Ó åQöX]çEïõEõ ×Eõ AEõ×ÅyTö Xçã]ã» LXç ^çÌ^ ?
aÇ+ãQöX, ×ZõXã_‰ø, XÌ[ýCãÌ̂  A[ýe åQöX]çEïõãEõ ×Eõ Xçã] LçXç ̂ çÌ̂  ?
a) Netherlands b) Siberia c) Scandinavia d) Coastlands

åXVç»ã_‰ø $K÷çc÷Oã[ý»ÝÌ̂ ç •õç×‰øãX×\öÌ^ç åEõçrôã_‰ø
c÷_îç³Qö aç+ã[ý×Ì[ýÌ̂ ç •õç×‰øãX×\öÌ̂ ç åEõçºOôã_³Qö

13. The song ‘Jai Ho’ for which A.R. Rahman bagged ‘The Oscar Award’ is from the film ?
A. %ç» »c÷]çãX %•õç» [ýg$RôOç åYç¾ç ‘LÌ̂ ãc÷ç’ GçXä$RôOç åEõçXFX EõUç$K÷×[ý» %ç×$K÷_ ?
A. %çÌ[ý Ì[ýc÷]çãXÌ[ý %•õçÌ[ý YÇÌ[ý•õçÌ[ý YÒçŠ GçX ‘LÌ̂ ãc÷ç’ åEõçX K÷çÌ̂ çK÷×[ýÌ[ý ?
a) Mother India b) Fire c) Slumdog Millionaire d) Smiley Pink

]çVç» c÷O×‰øÌ̂ ç ZõçÌ̂ ç» ØÚöç]QöG ×]×_Ì^Xç» Øö‚çc÷O_Ý ×YeEõ
]çVçÌ[ý +×‰øÌ̂ ç ZõçÌ̂ çÌ[ý ØÚöç]QöG ×]×_Ì̂ XçÌ[ý Øö‚ç+_Ý ×YeEõ
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14. Who wrote the book ‘Glimpses’ of world History” ?
‘×[ý`Ÿ c÷O×Töc÷ça» ×L×_Iø×S’» ×_FEõ åEõçX ?
‘×[ý Ÿ̀ +×Töc÷çãaÌ[ý Ì[ý»ÖYåÌ[ýFç’ [ý+åÌ̂ Ì[ý Ì[ýJô×Ì̂ Töç åEõ ?
a) Salman Rushdie b) Jawahar Lal Nehru c) Mahatma Gandhi d) Raja Ram Mohan Roy

$K÷ç_]çX »Ó Ÿ̀Ë×Qö L¾çc÷»_ç_ åXc÷»Ó ]c÷ç±Áç GçμùÝ »çLç »ç] å]çc÷X »Ì̂
a_]X Ì[ý»Ó Ÿ̀×V Lc÷Ì[ý_ç_ åXc÷Ì[ý»Ó ]c÷ç±Áç GçμùÝ Ì[ýçLç Ì[ýç] å]çc÷X ÌÌ[ýçÌ̂

15. Federation Cup Football, 2009’ is played in :
åZõQöçã»`ŸX EõçY ZÇõ$RôO[ý_ 2009 $JôXTö Eõ’Tö %XÇ×œöTö éc÷×$K÷_ ?
åZõQöçãÌ[ý Ÿ̀X EõçY ZÇõOô[ý_ 2009 açã_ åEõçUçÌ̂  %XÇ×œöTö c÷ãÌ̂ ×K÷_ ?
a) Meghalaya b) Assam c) West Bengal d) Goa

å]Hç_Ì̂ %a] Y×¸Jô][ý† åGç¾ç
å]Hç_Ì̂ %çaç] Y×¸Jô][ý† åGçÌ̂ ç

16. ‘Think Hatke’ is the punchline of :
‘×UeEõ c÷$RËôOåEõ’ ×Eõc÷» æ À̀çGçX ?
‘×UeEõ cË÷OôåEõ’ ×Eõãa»Ì[ý æ À̀çGçX ?
a) Vodafone b) Tata Indicom b) Virgin Mobile d) Reliance

å\öçQöçãZõçX $RôOç$RôOç c÷O×‰øEõ] \öç×LÛX å]ç[ýçc÷O_ ×»_çãÌ̂ ³a
å\öçQöçãZõçX OôçOôç +×‰øEõ] \öç×LÛX å]ç[ýç+_ ×»Ì[ý_çãÌ̂ ³a

17. ‘Lux’ is a beauty soap produced by :
‘_çj’ åaì³V^ïî $Jôçã[ýçX Eõç» ¥ç»ç QöOdYç×VTö ?
‘_çj’ åaì³V ï̂î aç[ýçX EõçÌ[ý ¥çÌ[ýç =dYç×VTö :
a) Hindustan Lever b) Himalaya Herbal c) Johnson & Johnson d) Oriflame

×c÷³VÇØ™öçX ×_\öç» ×c÷]ç_Ì̂ ç c÷çã[ýï_ LX$JôX  A‰ø LX$JôX %×»äZÀõ]
×c÷³VÇØ™öçX ×_\öçÌ[ý ×c÷]ç_Ì̂ ç c÷çã[ýï_ LXaX A‰ø LXaX %×Ì[ýäZÀõ]

18. The country known as ‘the land of cakes’ is :
åEõçX åV`Eõ ‘å_‰ø %¾ åEõEõ’ [ýÇ×_ åEõç¾ç c÷Ì^ ?
åEõçX åV` ‘å_‰ø %[ý åEõEõ’ Xçã] FîçTö ?
a) England b) Scotland c) Ireland d) Finland

c÷Oeã_‰ø •õRôOã_‰ø %çÌ̂ ç»ã_‰ø ×ZõXã_‰ø
+eå_‰ø •õOôå_‰ø %çÌ^çÌ[ýå_‰ø ×ZõXã_‰ø

19. The world’s highest Airport is located in :
YÊ×U¾Ý» QöO¬JôTö] ×[ý]çX [ý³V» E’Tö %¾×ØšöTö ?
YÊ×U[ýÝÌ[ý =¬JôTö] ×[ý]çX [ý³VÌ[ý åEõçUçÌ̂  %[ý×ØšöTö ?
a) Leh in Ladakh        b) Tawang in Arunachal Pradesh c)  Siachen in Kashmir d) Kathmandu

_çQöçF» å_$c÷ %»ÓXç$Jô_» Töç¾çIø      Eõç`½Ý»» ×$K÷Ì^ç×$K÷X EõçPö]ç‰Çø
_çQöçãFÌ[ý å_c÷ %Ì[ý»ÓXçJôã_Ì[ý TöçÌ̂ çe     Eõç`½ÝãÌ[ýÌ[ý ×aÌ̂ ç×JôX EõçPö]ç‰Çø

20. ‘Yuki Bhamberi’ is associated with :
Ì^Ç×Eõ \öç=‘ö»Ý ×Eõc÷» _GTö L×QÍöTö ?
Ì̂ Ç×Eõ \öç¶‘öÌ[ýÝ ×EõãaÌ[ý aã† L×QÍöTö ?
a) Football b) Cricket c) Table Tennis d) Badminton

ZÇõ$RôO[ý_ ×yÔãEõ$RôO æ$RôO[ýÇ_ æ$RôO×X$K÷ [ýîçQö×]³RôOX
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21. Fill up the blank :
Fç×_Pöçc÷O YÉ» Eõ»ç :
É̀XîØšöçX YÉSï EõÌ[ý :

?

  (a)              (b)              (c)                (d)

22. Harappan Civilization is also known as :
c÷»´Yç a\öîTöçEõ %Xî ×Eõ Xçã]ã» LXç ^çÌ^ ?
c÷Ì[ý´Yç a\öîTöçãEõ ×Eõ Xçã] LçXç ^çÌ̂  ?
a) Indus Valley Civilization    b)    Vedic Civilization   c) Indian Civilization d) None of these

×aμÇù QöOYTöîEõç a\öîTöç    é[ý×VEõ a\öîTöç \öç»TöÝÌ̂  a\öîTöç A$RôOçC Xc÷Ì̂
×aμÇù =YTöîEõç a\öîTöç     é[ý×VEõ a\öîTöç \öçÌ[ýTöÝÌ̂  a\öîTöç AEõ×OôC Xç*

23. ‘Do or Die’ was the slogan of :
‘QÇö %» Qöçc÷O’ - Ac÷O æ`ÀçGçXä$RôOç åEõçX %çã³Vç_X» _GTö L×QÍöTö ?
‘QÇö %Ì[ý Qöç+’ A+ æ À̀çGçX×Oô åEõçX %çã³Vç_ãXÌ[ý aã† L×QÍöTö ?
a) Civil Disobedience Movement b) Non-Co. operation Movement

%çc÷OX %]çXî %çã³Vç_X %ac÷ã^çG %çã³Vç_X

c) Swadeshi Movement d) Quit India Movement.
Ø‘öãV`Ý %çã³Vç_X \öç»Tö TöîçG %çã³Vç_X
Ø‘öãV`Ý %çã³Vç_X \öçÌ[ýTö K÷çåQÍöç %çã³Vç_X

24. A packet of ‘LAY’S’ contains :
‘LAY’S’ » åYãEõ$RôOTö ×Eõ UçãEõ ?
‘LAY’S’ åYãEõãOô ×Eõ YçCÌ̂ ç ̂ çÌ̂  ?
a) Bhujia b) Noodles c) Chips d) Nuts

\ÇöLÝÌ̂ ç XÇQÇöDa ×$Jô´a [ýçVç]
\Çö×LÌ̂ ç XÇQÇöDa ×$Jô´aË [ýçVç]

25. From which place did Jawaharlal Nehru announced India’s freedom ?
Eõ’» Y»ç L¾çc÷»_ç_ åXc÷»Óã¾ CBOY×Xã[ý×`Eõ ̀ çaX» Y»ç \öç»ãTö Ø‘öçWýÝXTöç _ç\ö Eõ»ç» åHçbXç Eõ×»×$K÷_ ?
Lc÷Ì[ý_ç_ åXc÷»Ì[ýÓ \öçÌ[ýåTö»Ì[ý Ø‘öçWýÝXTöç _ç\ö åHçbXç EõåÌ[ýX åEõçUç åUãEõ ?
a) Parliament Bhawan b) Red Fort c) India Gate d) None of these.

Yç×_ïÌ̂ çã]³RôO \ö¾X _ç_×Eõ{ç c÷O×‰øÌ̂ ç åG$RôO A$RôOçC Xc÷Ì̂
Yç×_ïÌ̂ çã]³RôO \ö[ýX _ç_×Eõ{ç c÷O×‰øÌ̂ ç åG$RôO AEõ×OôC Xç*

26. Which of the following is a health drink :
Tö_Tö ×VÌ^ç åEõçXä$RôOç Ø‘öçØšöî aX½Tö åYÌ^ ?
×XäJôÌ[ý åEõçX×Oô Ø‘öçØšöî aX½Tö YçXÝÌ̂  ?
a) Coca cola b) Complan c) Pepsi d) All of these

åEõçEõç åEõç_ç Eõ]YÀçX åYY×$K÷ %ç$RôOçc÷OãEõc÷O$RôOç
åEõçEõç åEõç_ç Eõ]YÀçX åYY×$K÷ a[ý EõÌ^×$RôO
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27. In the cartoon ‘Tom and Jerry’, Jerey is a :
×[ýFîçTö ‘$RôO] A‰ø åL»Ý’ Eõç$RÇôOÛX ×$Jô×»ãÌ^_Tö åL»Ý $Jô×»y Eõç» ?
×[ýFîçTö ‘Oô] A‰ø åLÌ[ýÝ’ EõçOôÇÛX ×a×Ì[ýÌ̂ çã_ åLÌ[ýÝ Jô×Ì[ýy EõçÌ[ý ?
a) Cat b) Rat c) Mouse d) Snake

å]EÇõ»Ý A³VÇ» ×XG×X açY
×[ýQÍöç_ [ýQÍö +VñÇÌ[ý +VñÇÌ[ý açY

28. What is the full form of UNO ?
UNO » a+ÉSï Xç] ×Eõ ?
UNO AÌ[ý a¶YÉSï Xç] ×Eõ÷ ?
a) Union of National Organisations b) United Nation Organisation
c) United Natural Organisations d) None of the above

29. How many legs do butterflies have ?
Y×F_ç» ×Eõ]çXFX æPöe %çä$K÷ ?
YÒLçY×TöÌ[ý Yç EõÌ̂ Oôç ?
a) 4 b) 6 c) 2 d) 8

30. How many Zeros are there in ten million ?
Vc÷ ×X^ÇTöTö ×Eõ]çX$RôOç É̀Xî %çä$K÷ ?
V` ×X Ç̂ãTö EõTö×Oô ̀ ÉXî %çäK÷ ?
a) One million Zeros b) 6 Zeros c) 7 Zeros d) 8 Zeros.

AEõ ×X^ÇTö `ÉXî $6 RôOç É̀Xî 7 RôOç É̀Xî 8 $RôOç É̀Xî
AEõ ×X Ç̂Tö ̀ ÉXî 6 ×Oô ̀ ÉXî 7 ×Oô ̀ ÉXî 8 ×Oô ̀ ÉXî

General Science / açWýç»S ×[ýpûçX / açWýçÌ[ýX ×[ýpûçX

31. Which of the following does not belong to the group of egg laying animals ?
Tö_» åEõçXä$RôOç EõSÝ Y»ç YÒçSÝ Xc÷Ì^ ?
XÝäJôÌ[ý åEõçX YÒçSÝ ×Qö] YçäQÍö Xç ?
a) Duck b) Fish c) Rabbit d) Snake

cg÷çc÷ ]ç$K÷ `c÷çY§ açY
c÷ça ]çK÷ FÌ[ýãGç` açY

32. Which of the following is not a part of the excretory system ?
Tö_» åEõçXä$RôOç å»$JôX TöÜ—ö» %e` Xc÷Ì^ ?
XÝäJôÌ[ý åEõçX×Oô åÌ[ýJôX TöãÜ—öÌ[ý %e` XÌ̂  ?
a) Eyes b) Kidneys c) Lungs d) Skin

$JôEÇõ [ýÊhõ c÷çCg-ZõçCg $K÷ç_
æJôçF [ýÊhõ ZÇõaZÇõa ±¼öEõ
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33. Which of the following travels the fastest ?
Tö_» åEõçXä$RôOç %ç$RôOçc÷OTöêEõ å[ýGÝ ?
a[ýäJôãÌ̂  VÐÓTöGç]Ý c÷_ :
a) Jet planes b) Sound c) Light d) Rockets

åL$RôO æYÀc÷OX `Œ åYçc÷» »ãEõRôO
åLOô æYÀ+X W[ý×X %çã_ç Ì[ýåEõOô

34. When some sugar is dissolved in a glass of water, the water level :
A×G_ç$Jô YçXÝTö %_Y æ$Jô×X VÐ¾Ý\ÉöTö Eõ×»ã_ YçXÝ» Ø™ö» :
AEõ GÀça Lã_ ×Jô×X VÐ[ýÝ\ÇöTö EõÌ[ýå_ Lã_Ì[ý Ø™öÌ[ý :
a) Increases b) Decreases c) Remains the same d) None of the above

[ýç×$RÍô[ý Eõ×][ý AãEõ Uç×Eõ[ý CY»» A$RôOçC Xc÷Ì̂
[ýçäQÍö Eõã] AEõ+ UçãEõ åEõçXOôçC XÌ̂

35. To calculate the age of a man, which of the following parameters is used ?
ALX ]çXÇc÷» [ýÌ̂ a ×XˆùÛç»S Eõã»çãTö åEõçXä$RôOç Eõç»Eõ [ýî¾c÷ç» c÷Ì^ ?
AEõLX ]çXÇãbÌ[ý [ýÌ̂ a ×XˆùÛçÌ[ýS Eõ×»Ì[ýåTö ̂ çc÷ç [ýî[ýc÷ÖTö c÷Ì̂  :
a) Length b) Mass c) Time d) Both b & c

éVHïî \ö» a]Ì̂ b %ç»Ó c QöO\öÌ^
éVHïî \öÌ[ý a]Ì̂ b A[ýe c =\öãÌ̂

36. Foods like egg and milk are good for :
EõSÝ %ç»Ó GçFÝ» ×Eõc÷» [ýçã[ý QöOYEõç»Ý :
×Qö], VÇWý, =YEõçÌ[ýÝ ×EõãaÌ[ý LXî :
a) Eyes b) Muscles c) Heart d) Bones

$JôEÇõ åYbÝ c÷ÖV^Ü—ö c÷çQÍö
æJôçF ]çeaãY`Ý c÷ÖV^Ü—ö c÷çQÍö

37. Which organ of a dog helps to maintain its body temperature ?
EÇõEÇõ»» åEõçXä$RôOç %†c÷O c÷OÌ̂ ç» `»Ý»» QöOwøçY ×XÌ̂ Ü—öS Eõ»çTö ac÷çÌ̂  Eõã» ?
EÇõEÇõãÌ[ýÌ[ý åEõçX %eG Töç»Ì[ý ̀ Ì[ýÝåÌ[ýÌ[ý =wøçY ×XÌ̂ Ü—öS EõÌ[ýåTö açc÷ç^î EõåÌ[ý ?
a) Tongue b) Legs c) Tail d) Skin

×L\öç \ö×» åXL $K÷ç_
×Lâ¼÷ç Yç å_L ±¼öEõ

38. Which distance is the largest ?
Tö_» åEõçXä$RôOç VÉ»±¼ö %ç$RôOçc÷OTöêEõ å[ý×$K÷ ?
XÝåJôÌ[ý åEõçX×OôÌ[ý VÉÌ[ý±¼ö a[ýJôç+åTö å[ý`Ý ?
a) Distance between earth and sun b) Distance between earth and moon

YÊ×U¾Ý %ç»Ó aÉ̂ ïî» ]çL» VÉ»±¼ö YÊ×U¾Ý %ç»Ó $Jô³VÐ» ]çL» VÉ»±¼ö
YÊ×U[ýÝ %çÌ[ý aÉã ï̂Ì[ý ]ãWýîÌ[ý VÉÌ[ý±¼ö YÊ×U[ýÝ %çÌ[ý Jôä³VÐÌ[ý ]åWýîÌ[ý VÉÌ[ý±¼ö

c) Distance between earth and neptune d)  Distance between sun and neptune
YÊ×U¾Ý %ç»Ó åXY$JÇôX» ]çL» VÉ»±¼ö aÉ̂ ïî %ç»Ó åXY$JÇôX» ]çL» VÉ»±¼ö
YÊ×U[ýÝ %çÌ[ý åXYJÇôãXÌ[ý ]ãWýîÌ[ý VÉÌ[ý±¼ö aÉ̂ ï %çÌ[ý åXYJÇôãXÌ[ý ]ãWýîÌ[ý VÉÌ[ý±¼ö
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39. The working of our heart is moslty similar to a :
%ç]ç» c÷ÖV^Ü—ö» Eõç ï̂î ×Eõc÷» _GTö açVỀ î ?
%ç]çãVÌ[ý c÷ÖV^ãÜ—öÌ[ý Eõç ï̂ãEõ TÇö_Xç EõÌ[ýåTö Yç×Ì[ý EõçÌ[ý açãU ?
a) fan b) car c) computer (d) pump

YçeFç GçQÍöÝ Eõ×+QöO$RôOç» Yç+
YçFç GçQÍöÝ Eõ×+=OôçÌ[ý Yç+

40. Which of the following plants grow from its seed :
Tö_» åEõçXä$RôOç QöO×àöV [ýÝL» Y»ç c÷Ì^ :
XÝäJôÌ[ý åEõçX =×àöV [ýÝL åUãEõ c÷Ì̂  :
a) Potato b) Maize c) Onion (d) Ginger

%ç_Ç ]çêEõ ×YÌ̂ çL %ç$Vç
%ç_Ç \Éövôç ×YÌ̂ çL %çVç

41. Which of the following show the correct representation of the action of heat on substances ?
Tö_» åEõçXä$RôOçã¾ YVçUï» CY»Tö TöçY» YÒ\öç¾ a×PöEõ\öçã[ý [ýSïXç Eõã» :
XÝäJôÌ[ý åEõçX×Oô YVçãUïÌ[ý =YÌ[ý TöçãYÌ[ý YÒ\öç[ý a×PöEõ \öçã[ý [ýSïXç EõåÌ[ý :
a) Gas → solid → liquid b) Solid → gas → liquid

åG$K÷ → Eõ×PöS YVçUï → Tö»_ Eõ×PöX YVçUï → åG$K÷ → Tö»_
Gîça → Eõ×PöS YVçUï → TöÌ[ý_ Eõ×PöX YVçUï → Gîça → TöÌ[ý_

c) Liquid → solid → gas d) Solid → liquid → gas
Tö»_ → Eõ×PöX YVÛçUï → åG$K÷ Eõ×PöX YVçUï → Tö»_ → åG$K÷
TöÌ[ý_ → Eõ×PöX YVÛçUï → Gîça÷ Eõ×PöX YVçUï → TöÌ[ý_ → Gîça

42. First aid is ?
YÒçU×]Eõ ×$Jô×Eõdaç éc÷ä$$K÷ :
YÒçU×]Eõ ×Jô×Eõdaç c÷_ :
a) A treatment procedure followed by doctors

QöçNþã» %XÇa»S Eõ»ç A×[ýWý ×$Jô×Eõdaç Yˆù×Tö
QöçNþçÌ[ýãVÌ[ý %XÇaÌ[ýX EõÌ[ýç AEõWýÌ[ýãXÌ[ý ×Jô×Eõdaç Yˆù×Tö

b) An aid when an enemy country attacks us
`yÓ »çrÑôc÷O %çyÔ]S Eõ×»ã_ TödlùXçT ×VÌ̂ ç ×$Jô×Eõdaç
`yÓ Ì[ýçrÑô %çyÔ]S Eõ×Ì[ýå_ TödlùXçTö åVCÌ̂ ç ×Jô×Eõdaç Yˆù×Tö

c) An aid for the handicapped
YÒ×Tö[ýμùÝ» ×$Jô×Eõdaç
YÒ×Tö[ýμÝãVÌ[ý ×Jô×Eõdaç Yˆù×Tö

d) A treatment for the people in the time between an accident and medical care by doctors
VÇHï$RôOXç %ç»Ó ×$Jô×EõdaãEõ Eõ»ç ×$Jô×Eõdaç VçX» ]çL» a]Ì̂ ×F×XTö ]çXÇc÷Eõ Eõ»ç ×$Jô×Eõdaç
VÉHïOôXç %çÌ[ý ×Jô×EõdaãEõ EõÌ[ýç ×Jô×Eõdaç VçãXÌ[ý ]çMõFçãXÌ[ý a]ãÌ̂  ]çXÇbåEõ EõÌ[ýç ×Jô×Eõdaç

43. The thermometer that we use to measure body temperature use which of the following ?
`»Ý» QöOwøçY åLçFç Uç]ï×]$RôOç»Tö Tö_» åEõçXä$RôOç [ýî¾c÷ç» c÷Ì̂  ?
Ì̀[ýÝåÌ[ýÌ[ý =bÕTöç ]çYç Uçã]ïç×]OôçåÌ[ý [ýî[ýc÷ÖTö c÷Ì̂  :

a) Silicon b) Mercury c) Hydrogen ö d) Oxygen
×$Jô×_EõX Yç»ç c÷çc÷OQÎöãLX %×jãLX
×a×_EõX YçÌ[ýV c÷ç+QÎöãLX %×jãLX

cool cool heat heat

cool cool heat heat

Pöç‰øç Pöç‰øç TöçY TöçY

Pöç‰øç Pöç‰øç TöçY TöçY

Pöç‰øç Pöç‰øç TöçY TöçY

Pöç‰øç Pöç‰øç TöçY TöçY
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44. Which of the following does not use a magnet ?
Tö_» åEõçXä$RôOçTö $JÇô=‘öEõ [ýî¾c÷ç» Xc÷Ì^ ?
$JÇô=‘öEõ [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂  Xç
a) Television b) Speaker c) Fan d) Watch

æ$RôO×_×\ö$JôX &ÝEõç» YçeFç HQÍöÝ
åOô×_×\ö`ãX &ÝEõçåÌ[ý YçFçåTö H×QÍöåTö

45. Which of the following is not a difference between plants and animals ?
Tö_» åEõçXä$RôOç QöO×àöV %ç»Ó YÒçSÝ» ]çL» YçUïEõî Xc÷Ì̂  ?
XÝäJôÌ[ý åEõçX×ÌOô =×àöV C YÒçSÝÌ[ý ]ãWýîÌ[ý YçUïEõî XÌ̂  ?
a) Plants can not move while animal can

QöO×àöãV $Jô_ç$Jô$_ Eõ×»[ý åXç¾çã» ×EõÜ™Çö YÒçSÝãÌ^ Yçã»
=×àöãV Jô_çJô_ Eõ×Ì[ýãT YçãÌ[ýXç ×EõÜ™Çö YÒçSÝ YçãÌ[ý

b) Plants do not need oxygen for breathing while animals do
QöO×àöãV QöÒ çc÷-×X`çc÷Tö %×jãLX [ýî¾c÷ç» XEõã» ×EõÜ™Çö YÒçSÝãÌ̂  Eõã»
=×àöV ̀ Ÿça ×XãTö %×jãLX [ýî[ýc÷çÌ[ý EõåÌ[ýXç ×EõÜ™Çö YÒçSÝ EõåÌ[ý

c) Plants prepare their own food while animals depend on others d) Non of the above
QöO×àöãV ×XL» FçVî ×XãL éTöÌ^ç» Eõ×»[ý Yçã» ×EõÜ™Çö YÒçSÝãÌ^ FçVî» [ýçã[ý %çX» CY»Tö ×X\öÛ» Eõã»* (CY»» A$RôOçC Xc÷Ì̂ )
=×àöV ×XãLÌ[ý FçVî ×XãL éTöÌ̂ çÌ[ý Eõ×Ì[ýåTö YçåÌ[ý ×EõÜ™Çö YÒçSÝ FçãVîÌ[ý LXî %ãXîÌ[ý =YÌ[ý ×X\öÛÌ[ý EõåÌ[ý* (AEõ×OôC Xç)

46. How many muscles are there in a human body ?
]çX¾ åVc÷Tö UEõç åYbÝ» aeFîç ×Eõ]çX ?
]çX[ýãVãc÷ ]çeaãY`ÝÌ[ý aeFîç c÷_ :
a) 600 b) 700 c) 800 d) 900

47. Which of the following statement is false
Tö_» åEõçXä$RôOç QöO×Nþ ×]$K÷ç ?
XÝäJôÌ[ý åEõçX×Oô [ýçEõî ×]Uîç ?
a) Nonliving things do not grow b) Nonliving things breathe

LQÍö YVçUï» [ýÊ×ˆù Xc÷Ì̂ LQÍö YVçUïc÷O QöÒ çc÷-×X`çc÷ _Ì̂
LQÍö YVçåUïÌ[ý [ýÊ×ˆù c÷Ì̂  Xç LQÍö YVçUï ̀ Ÿça-YÒ̀ Ÿça ×XãTö YçãÌ[ý

c) Living things grow d) Living things show movement
LÝ¾» [ýÊ×ˆù c÷Ì̂ LÝ¾c÷O $Jô_çZÇõ»ç Eõ×»[ý Yçã»
LÝã[ýÌ[ý [ýÊ×ˆù c÷Ì̂ LÝ[ý Jô_çåZõÌ[ýç EõÌ[ýãTö YçãÌ[ý

48. The combination of which of the following soils is best for the growth of plant  ?
QöO×àöV» [ýÊ×ˆù» [ýçã[ý Tö_Tö ×VÌ^ç ]ç×$RôO» åEõçXä$RôOç ae×]`ÒS %×Tö QöOwø] ?
=×àöãVÌ[ý [ýÊ×ˆùÌ[ý LXî ]ç×OôÌ[ý åEõçX ae×] Ò̀S a[ýJôç+ãTö =wø] ?
a) Clay, sand & gravel b) Humus, clay & gravel

å[ýçEõç, [ýç×_ %ç»Ó ×`_ ×c÷QöO]ç$K÷, å[ýçEõç %ç»Ó ×`_
EõçVç ]ç×Oô, [ýç_Ç %çÌ[ý YçUÌ[ý ×c÷=]ça, EõçVç]ç×Oô %çÌ[ý YçUÌ[ý

c) Sand, humus & gravel d) Humus, sand & clay
[ýç×_, ×c÷QöO]ç$K÷ %ç»Ó ×`_ ×c÷QöO]ç$K÷, [ýç×_ %ç»Ó å[ýçEõç
[ýç_Ç, ×c÷=]ça %çÌ[ý YçUÌ[ý ×c÷=]ça, [ýç_Ç %çÌ[ý EõçVç]ç×Oô
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49. What is the cause behind both floods and droughts ?
[ýçXYçXÝ %ç»Ó F»çe QöO\öÌ^» %Ü™ö×Xï×c÷Tö Eõç»S ×Eõ ?
[ýXîç C FÌ[ýçÌ[ý %Ü™ö×Xï×c÷Tö EõçÌ[ýS :
a) Afforestation b) Deforestation c) Excessive rain d) No rain

[ýSçXÝEõ»S ×X[ýïSXÝEõ»S %×Tö[ýÊ×rô %Xç[ýÊ×rô
[ýSçXÝEõÌ[ýS ×X[ýïXÝEõÌ[ýS %×Tö[ýÊ×rô %Xç[ýÊ×rô

50. Which important mineral is now-a-days mixed with salt to prevent a disease called goitre ?
Gg»_ å[ý]ç» YÒ×Töã»çWý» [ýçã[ý Tö_Tö ×VÌ^ç åEõçXä$RôOç ]×XEõ ×X]F» _GTö ×]c÷ã_ç¾ç c÷Ì^ ?
G_ G‰ø åÌ[ýçåGÌ[ý YÒ×TöãÌ[ýçåWýÌ[ý LXî _[ýãXÌ[ý açãU åEõçX F×XEõ å]`çãXç c÷Ì̂  ?
a) carbon b) Iodine c) Sulphur d) Zinc

Eõç[ýïX %çÌ^×QöX $$K÷ç_Zõç» ×LeEõ
Eõç[ýïX %çÌ̂ ×QöX aç_ZõçÌ[ý ×LeEõ

51. Rubber comes from :
»[ý» QöOdY~ c÷Ì̂  :
Ì[ý[ýçÌ[ý YÒØ™ÇöTö EõÌ[ýç c÷Ì̂  :
a) Trees b) Rivers c) Underground mines d) Hills

G$K÷» Y»ç XVÝ» Y»ç \ÉöG\öÛ» F×X» Y»ç Yçc÷ç»» Y»ç
GçK÷ åUãEõ XVÝ åUãEõ \ÇöGã\öÛÌ[ý F×X åUãEõ Yçc÷çQÍö åUãEõô

52. Our sun is a :
aÉ̂ ïîä$RôOç A$RôOç :
aÉ̂ ï c÷_ AEõOôç :
a) Planet b) Satellite c) Comet d) Star

GÐc QöOYGÐc÷ WýÇ]ãEõTÇö Xlùy
GÐc÷ =YGÐc÷ WýÉ]ãEõTÇö Xlùy

53. Which of these is not nocturnal ?
c÷OÌ^ç» åEõçXä$RôOç ×X`ç$Jô» YÒçSÝ Xc÷Ì^ ?
XÝäJôÌ[ý åEõçX YÒçSÝ Ì[ýçäy Jô_çåZõÌ[ýç EõãÌ[ý Xç ?

a) b) c) d)

54. Which bird has strainers in its beak ?
åEõçX×[ýWý $Jô»çc÷O» æPöçRôOTö æ$JôEõSÝ UçãEõ ?
åEõçX YçFÝÌ[ý æPöçãOô K÷çEõ×X UçãEõ ?
a) Duck b) Crane c) Eagle d) Hen

cg÷çc÷ [ýG_Ý <G_ EÇõEÇõ»ç
c÷ça [ýEõ <G_ ]ÇÌ[ýGÝ
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55. During photo synthesis plants take .............. while giving out ...........
açã_çEõ aeä`ÀbS» a]Ì^Tö QöO×àöãV ............. GÐc÷S Eõã» %ç»Ó ................. A×» ×VãÌ^
açã_çEõ aeä À̀bãXÌ[ý a]ãÌ̂  =×àöãV .................... GÐc÷S Eõã»Ì[ý %çÌ[ý ................... K÷çäQÍö*
a) Hydrogen, Water    b)  Carbon-di-oxide, oxygen c)   Oxygen, Carbon-di-oxide d)  None of these

c÷çc÷OQÎöãLX, YçXÝ             Eõç[ýïX-Qöçc÷O-%jçc÷OQö %×jãLX %×jãLX, Eõç[ýïX-Qöçc÷O-%jçc÷OQö      A$RôOçC Xc÷Ì^
c÷çc÷OQÎöãLX, L_              Eõç[ýïX-Qöçc÷O-%jçc÷OQö, %×jãLX %×jãLX, Eõç[ýïX-Qöçc÷O-%jçc÷OQö      AEõ×$RôOC Xç

56. Which bird  has the biggest nest ?
åEõçX×[ýWý $Jô»çc÷O» [ýgçc÷ %ç$RôOçc÷OTöêEõ QöçIø» ?
åEõçX YçFÝÌ[ý [ýçaç a[ýJôç+ãTö [ýQÍöô?
a) Sparrow b) Vulture c) Crow d) Cuckoo

HX ×$Jô×»Eõç `mS EõçQöO»Ý EÇõ×_
JôQÍöç+ `EÇõX EõçEõ åEõç×Eõ_

57. Lung is the chief breathing organ of :
c÷çCg-ZõçCg åEõçX YÒçSÝ» ]ÇFî ̀ Ÿça %† ?
ZÇõaZÇõa åEõçX YÒçSÝÌ[ý YÒWýçX ̀ ŸaX %† ?
a) Mammals b) Birds c) Reptiles d) All the above

Ø™öXîYçÌ̂ Ý YlùÝ a»ÝaÊY %ç$RôOçc÷Oã[ýç»
Ø™öXîYçÌ̂ Ý YçFÝ a»Ì[ýÝaÊY a[ýEõÌ̂ Oôç

58. The movements of our body is made possible by our :
%ç]ç» `»Ý»» a‡ûç_X ×Eõc÷» [ýçã[ý aÞö¾ éc÷ä$K÷ ?
]çX[ýãVãc÷Ì[ý ̀ Ì[ýÝåÌ[ýÌ[ý a‡ûç_X aÞö[ý c÷Ì̂  ×EõãaÌ[ý LXî ?
a) Bones b) muscles c) both a & b d) None of the above

c÷çQÍö åYbÝ a %ç»Ó b QöO\öÌ̂ CY»» A$RôOçC Xc÷Ì̂
c÷çQÍö ]çeaãY`Ý a %çÌ[ý b =\öÌ̂ AEõ×OôC Xç

59. Which of the following has just one seed ?
Tö_» åEõçXä$RôOçTö ]çy A$RôOç [ýÝL UçãEõ ?
åEõçX Zõã_Ì[ý ]çy AEõOôç [ýÝL UçãEõ ?
a) Mango b) Coconut c) Grapes d) All the above

%ç] Xç×»Eõ_ %ç†Ç» %ç$RôOçc÷Oã[ýç»Tö
%ç] Xç×Ì[ýãEõ_ %ç†ÇÌ[ý a[ýEõÌ̂ Oôç

60. A flower usually changes into :
ZÇõ_ açWýç»SãTö »ÖYçÜ™ö» c÷Ì^ :
ZÇõ_ açWýçÌ[ýXTö Ì[ý»ÖYçÜ™öÌ[ý c÷Ì̂  :
a) Stem b) Fruit c) Root d) Thorn

Eõç‰øê_ Zõ_ê_ ×`Yçê_ Eõçc÷O$RôOê_
Eõçã‰ø Zõã_ ]Éã_ EgõçOôçåTö
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General Mathematics / açWýç»S G×STö / açWýçÌ[ýX G×STö

61.

Which of the following pair of shapes could be put together to form the rectangle shown above ?
Tö_» åEõçXã^ç» %çEÊõ×Tö _G _Gçã_ CY»» %çÌ^Töãlùyä$RôOç åYç¾ç ^ç[ý ?
XÝäJôÌ[ý åEõçX åLçQÍöç %çEÊõ×Tö AEõaçãU ae Ç̂Nþ EõÌ[ýã_ =YåÌ[ýÌ[ý %çÌ̂ Töãlùy YçCÌ̂ ç ̂ çã[ý ?

a) b) c)  d)

62. The shortest lengths among the following below is :
Tö_» åEõçXä$RôOç lÇùVÐTö] éVHïî :
XÝäJôÌ[ý åEõçX×OôÌ[ý éVHïî lÇùVÐTö] :
a) 1 mm (×].×])ö b) 1 cm (æ$K÷.×]. / åa.×].)  c) 1 m (×]) d) 1 km (×Eõ.×])

63. The value of 7 + 3 x 3 is :
7 + 3 x 3 » ]çX :
7 + 3 x 3 Ì[ý ]çX :
a) 13 b) 16 c) 30 d) None of these

A$RôOçC Xc÷Ì̂  / AEõ×$RôOC Xç
64. How many triangles can be seen in this drawing ?

Eõçb» ×$JôyTö ×Eõ]çX$RôOç ×Åy\ÉöL åVFç ^çÌ^ ?
Yçã Ì̀[ý ×Jôãy EõÌ̂ Oôç ×Åy\ÇöL %çäK÷ ?
a) 6 b) 7 c) 8 d) 10

65. What fraction of the figure below is shaded ?
Tö_» ×$Jôyä$RôOç» ×Eõ]çX %e` $K÷çgã» %ç[ýÊTö :
XÝäJôÌ[ý ×Jôy×OôÌ[ý EõTöOôÇEÇõ %e` K÷çÌ̂ çÌ̂  RôçEõç :

a) A b) J c) B d) None of these
A$RôOçC Xc÷Ì̂  / AEõ×$RôOC Xç

66. What needs to be added to 540 to make it 1000 ?
540 » _GTö ×Eõ]çX å^çG Eõ×»ã_ 1000 c÷’[ý :
540 Ì[ý açãU EõTö å^çG EõÌ[ýå_ 1000 c÷Ì̂  :
a) 460 b) 260 c) 360 d) None of these

A$RôOçC Xc÷Ì̂  / AEõ×$RôOC Xç
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67. Raju bought five 34 paise stamps. How much did they cost him ?
»çLÇãÌ̂  34 Yc÷O$Jôç» Ygç$Jô$RôOç ºRôOç+ ×Eõ×Xã_ ×Eõ]çX $RôOEõç ×V[ý _ç×G[ý ?
Ì[ýçLÇãEõ 34 YÌ̂ aç»Ì[ý YçJôOôç ºOôç+ ×EõXãTö EõTö OôçEõç ×VãTö c÷ã[ý ?
a) Rs. 1.20 b) Rs. 1.50 c) Rs. 1.70 d) Rs. 1.90

1.20 $RôOEõç 1.50 $RôOEõç 1.70 $RôOEõç 1.90 $RôOEõç
1.20 $RôOçEõç 1.50 $RôOçEõç 1.70 $RôOçEõç 1.90 $RôOçEõç

68.  Write 19 as the sum of two prime numbers given below :
19 Eõ VÇ$RôOç å]ì×_Eõ aeFîç» å^çGZõ_ ×c÷$JôçãY Tö_» åEõçXä$RôOçã¾ YÒEõç` Eõã» ?
XÝäJôÌ[ý åEõçX VÇ+Oôç å]ì×_Eõ aeFîçÌ[ý å^çGZõ_ c÷_ 19 ?
a) 17, 2 b) 15, 4 c) 9, 10 d) All the above

%ç$RôOçc÷O åEõc÷O$RôOç / a[ýEõc÷O$RôOç
69. What is (D - F) + F ?

(D - F) + F ? » ]çX ×Eõ ?
(D - F) + F ? Ì[ý ]çX ×Eõ ?
a) P b) 1

20 c) D d) F

70. Which is the longer, a piece of wood 35 cm long or a piece 339 mm long ?
A$RÇôOEÇõ»ç EõçPö 35 æ$K÷.×] VÝH_ %çX $RÇôOEÇõ»ç 339 ×]. ×]. VÝH_ c÷OÌ̂ çã» åEõçXä$RôOç VÝH_ ?
35 æa.×]. éVãHïîÌ[ý AEõOôÇEõÌ[ýç EõçPö %çÌ[ý 339 ×].×]. éVãHïîÌ[ý AEõOôÇEõÌ[ýç EõçäPöÌ[ý ]ãWýî åEõçXOôçÌ[ý éVHïî å[ý`Ý ?
a) 35 cm. b) 339 mm. c) can not say d) None of these

35 æ$K÷.×] 339 ×]÷.×] Eõ[ý åXç¾ç×» A$RôOçC Xc÷Ì̂
35 åa.×]. 339 ×].×] Lç×XXç AEõ×OôC Xç

71. What is the value of 79.9-32.4 ?
79.9 - 32.4 » ]çX ×Eõ ?
79.9 - 32.4 Ì[ý ]çX ×Eõ ?
a) 49.5 b) 47.5 c) 48.5 d) None of these

A$RôOçC Xc÷Ì̂  / AEõ×$RôOC Xç
72. Find the missing term in the following ?

YÒ`Âã[ýçWýEõ ØšöçXTö £ˆù aeFîçä$RôOç [ý§C¾ç ?
YÒ̀ Âã[ýçWýEõ ×Jôäc÷Ô a×PöEõ aeFîç [ýaçC ?

a) 12 b) 15 c) 39 d) 33

73. Which of the following statement is true about triangle ?
Tö_» åEõçXä$RôOç QöO×Nþ ×Åy\ÉöL» ålùyTö aTöî ?
×Åy\ÇöãLÌ[ý ålùæy XÝäJôÌ[ý åEõçX =×Nþ×Oô aTöî ?
a) A triangle has 3 sides b) A triangle has 3 angles c) A triangle has 4 sides d) Both a and b

A$RôOç ×Åy\ÉöL» [ýç§ ×Tö×X$RôOç A$RôOç ×Åy\ÉöL» åEõçS ×Tö×X$RôOç A$RôOç ×Åy\ÉöL» [ýç§ $Jôç×»RôOç a %ç»Ó b QöO\öÌ^
AEõ×Oôô ×Åy\ÇöãLÌ[ý [ýç§ ×TöX×Oôôô AEõ×Oôô ×Åy\ÇöãLÌ[ý åEõçX ×TöX×Oôô AEõ×Oôô ×Åy\ÇöãLÌ[ý [ýç§ JôçÌ[ý×Oô ô a %çÌ[ý b =\öãÌ̂ ô
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74. There are 2100 birds in a zoo. If there are 700 cages, how many birds are in each cage ?
AFX ×$Jô×»Ì̂ çFXçTö ]ÇPö 2100 $RôOç $Jô»çc÷O %çä$K÷* ^×V ×$Jô×»Ì^çFXçTö ]ÇPö 700 $RôOç ×Yt»ç Uç×Eõã_ YÒ×Töä$RôOç ×Yt»çTö ×Eõ]Xç$RôOç $Jô»çc÷O Uç×Eõ[ý ?
AEõOôç ×Jô×QÍöÌ̂ çFçXçÌ̂  2100 YçFÝ %çäK÷* ̂ ×V FgçJôçÌ[ý aeFîç 700 c÷Ì̂  Töçc÷ã_ YÒãTöîEõ×Oô FgçJôçÌ̂  EõTöOôç YçFÝ UçEõãTö YçãÌ[ý ?ô
a) 6 b) 8 c) 3 d) 10

75. Which of the following statements is correct ?
£ˆù QöOwø» åEõçXä$RôOç ?
a×PöEõ =wøÌ[ý åEõçX×Oô ?
a) 321 < 235 b) 420 > 510 c) 725 < 638 d) 827 > 639

76. What is the time shown in the clock ?
HQÍöÝä$RôOçã¾ ×Eõ]çX a]Ì̂  [ýÇLçc÷Oä$K÷ ?
H×QÍöãTö EõÌ̂ Oôç [ýçãL ?
a) 5 : 15 b) 2 : 25 c) 3 : 25 d) 3 : 20

77. Number of even numbers present in between 1 and 20 are :
1 %ç»Ó 20 » ]çLTö UEõç ]ÇPö Ç̂G½ aeFîç c÷_ :
1 %çÌ[ý 20 Ì[ý ]ãWýî UçEõç Ç̂G½ aeFîç c÷_ :
a) 4 b) 9 c) 10 d) 20

78. How many pages are there in a chapter which starts on page 22 and ends on page 44 :
A$RôOç %WýîçÌ̂  22 YÊrôç» Y»ç %ç»Þö éc÷ 42 YÊœöçTö å`b c÷ã_ %WýîçÌ^ä$RôOçTö ]ÇPö ×Eõ]çX YÊœöç %çä$K÷ ?
AEõOôç %WýîçÌ̂  22 Xe YÊrôç åUãEõ £Ì[ý»Ó c÷ãÌ̂  42 Xe YÊœöçÌ̂  å`b c÷_ %WýîçÌ̂ ×OôåTö a[ýïã]çO  EõTöOôç YÊrôç %çäK÷ ?
a) 22 b) 23 c) 24 d) 26

79. The sum of -6, -6 and -6 is :
-6, -6  %ç»Ó -6 » å^çGZõ_ c÷’[ýö :
-6, -6,%çÌ[ý -6, Ì[ý å^çGZõ_ c÷_ :
a) -24 b) -18 c) 18 d) 36

80. On dividing 0.04 by 6, we get :
0.04 Eõ 6 å» \öçG Eõ×»ã_, %ç×] Yç]ö :
0.04 åEõ 6 ¥çÌ[ýç \öçG EõÌ[ýå_, \öçGZõ_ c÷ã[ý :
a) 0.008 b) 0.006 c) 0.288 d) None of these

A$RôOçC Xc÷Ì̂  / AEõ×$RôOC Xç
81. X is an infinite number of points joined together. ‘X’ may be extended ‘X’ is a :

X éc÷ä$K÷ %aeFî ×[ý³VÇ» a]×rô, c÷OÌ^çEõ ×[ýØ™öç» Eõ×»[ý Yç×» åTöãÜ™ö X éc÷ä$K÷ :
^×V X %aeFî ×[ý³VÇÌ[ý a]×rô c÷Ì̂ , %çÌ[ý X åEõ ×[ýØ™öçÌ[ý EõÌ[ýç ̂ çÌ̂  Töçc÷ã_ X c÷_ :
a) point b) line segment c) line d) Parallel line

×[ý³VÇ å»FçF‰ø å»Fç a]çÜ™ö»ç_ å»Fç
×[ý³VÇ åÌ[ýFçF‰ø åÌ[ýFç a]çÜ™öÌ[ýç_ åÌ[ýFç
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82. How many quarters are there in 2A ?
2A Tö ×Eõ]çX$RôOç AEõ $JôTÇöUïçe` %çä$K÷ ?
2A åTö EõTöOôç JôTÇöUïçe` %çäK÷ ?
a) 10 b) 100 c) 5 d) 15

83. Which list of the fractions is arranged from smallest to the largest :
Tö_» åEõççXã[ýç» \öGÂçe` QöOˆùÛyÔ]Tö %çä$K÷ ?
XÝäJôÌ[ý åEõçX \öGÂçe`mã_ç =ˆùÛyÔã] %çäK÷ ?
a) L, D, A b) A, D, L c) D, A, L d) A, L, D

84. 2 Kg is the combination of :
2 ×Eõf GÐç]» a]TÇö_î éc÷ä$K÷ :
2 ×Eõã_çGÐçã]Ì[ý a]TÇö_î c÷_ :
a) 500 gm (GÐçf), 1600 gm (GÐçf) b) 500 gm (GÐçf), 1500 gm (GÐçf)
c) 1 kg (×Eõf GÐçf), 500 gm (GÐçf) d) 600 gm (GÐçf), 1700 gm (GÐçf)

85. 900 x 10 is the same as 90 x ................
900 x 10 » a]çX éc÷ä$K÷ 90 x ......................
900 x 10 AÌ[ý a]çX c÷_ 90 x .......................
a) 1000 b) 100 c) 10 d) 1

86. Raju arranged his photos equally in 3 similar albums. If he had 400 photos altogether, how many photos
were left out ?
»çLÇãÌ^ Töç» Zõä$RôOçå[ýç» AãEõ Wý»S» ×Tö×X$RôOç A_[ýç]Tö UÌ^* ^×V Töç» ]ÇPö Zõä$RôOç 400 Eõ×Y c÷Ì^ åTöãÜ™ö ×Eõ]çX$RôOç %¾ã`b Zõä$RôOç »[ý ?
Ì[ýçLÇ TöçÌ[ý ZõåOôçmã_çãEõ AEõ+ WýÌ[ýåXÌ[ý ×TöXOôç A_[ýçã] a]çX\öçã[ý aç×LãÌ̂  Ì[ýçãF* ̂ ×V a[ýïã]çOô ZõåOôçÌ[ý aeFîç 400 c÷Ì̂ , Töçc÷ã_ EõÌ̂ Oôç ZõåOôç å[ý`Ý UçãEõ ?
a) 133 b) 1 c) 2 d) 3

87. In the figure shown here, how many dots are there in both the triangle and the circle ?
Eõçb» ×$JôyTö, ×Åy\ÉöL %ç»Ó [ýÊwø QöO\öÌ^Tö UEõç ×[ý³VÇ» aeFîç :
Yçã Ì̀[ý K÷×[ýãTö, ×Åy\ÇöL %çÌ[ý [ýÊwø =\öãÌ̂  UçEõç ×[ý³VÇÌ[ý aeFîç :
a) 13 b) 9 c) 6 d) 3

88. The largest three digit number that can be formed using 8, 7, 4, 2, 1, 9 is :
8, 7, 4, 2, 1, 9 %eEõ åEõc÷O$RôOç [ýî¾c÷ç» Eõ×» GPöS Eõ×»[ý Y»ç %ç$RôOçc÷OTöêEõ QöçIø» aeFîçä$RôOç c÷’[ý :
8, 7, 4, 2, 1, 9 aeFîçmã_çãEõ [ýî[ýc÷çÌ[ý  EõåÌ[ý GPöX EõÌ[ýåTö YçÌ[ýç æJôãÌ̂  [ýQÍö aeFîç c÷_ :
a) 987 b) 789 c) 789 d) 978

89. ?  find the missing term :

_ÇŠ aeFîçæ$RôOç ×Eõ ?
_ÇŠ aeFîç×Oô ×Eõ ?
a) 38 b) 74 c) 48 d) 28
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90. Which of the following figures has exactly five right angles ?
Tö_» åEõçXä$RôOç ×$JôyTö 5 $RôOç a]ãEõçS %çä$K÷ ?
XÝäJôÌ[ý åEõçX ×Jôäy 5 Oôç a]ãEõçX %çäK÷ ?

a) b) c) d)

91. Which of the following statement is true ?
Tö_» åEõçXä$RôOç QöO×Nþ aTöî ?
XÝäJôÌ[ý åEõçX×Oô =×Nþ aTöî
a) All the sides in a rectangle are equal in length b) A rectangle has four acute angles

%çÌ̂ Töãlùy» %ç$RôOçc÷Oã[ýç» [ýç§» éVHïî a]çX %çÌ̂ Töãlùy» $Jôç×»$RôOç aÉÿ¿åEõçS UçãEõ
%çÌ̂ TöãlùäyÌ[ý a[ý EõÌ̂ ×Oô [ýç§Ì[ý éVHïî a]çX %çÌ̂ TöålùäyÌ[ý JôçÌ[ý×Oô aÉÿ¿åEõçS UçãEõ

c) The area of a rectangle is always 24 feet d) A rectangle has four right angles
%çÌ̂ Tö ålùy» Eõç×_ aEõã_ç ålùyTö 24 ZÇõ$RôO c÷Ì̂ %çÌ̂ Töålùy» $Jôç×»$RôOç a]ãEõçS UçãEõ
%çÌ̂ TöãlùäyÌ[ý Eõç×_ a[ýãlùäy 24 ZÇõOô c÷Ì̂ %çÌ̂ TöãlùäyÌ[ý JôçÌ[ý×Oô a]ãEõçX UçãEõ

92. Write 50 as the sum of two different odd numbers :
VÇ$RôOç ×\ö~ % Ç̂G½ aeFîç» å^çGZõ_ 50 c÷ã_ aeFîç VÇ$RôOç :
VÇ×+Oô ×\ö~ % Ç̂G½ aeFîçÌ[ý å^çGZõ_ 50 c÷+ã_ aeFîç VÇ+×Oô :
a) 25, 25 b) 24, 26 c) 23, 27 d) None of these

A$RôOçC Xc÷Ì̂  / AEõ×$RôOC Xç
93. Difference between the largest and smallest number of two digits is :

VÇ$RôOç %eEõã» ×_×F[ý Y»ç [ýÊc÷wø] %ç»Ó lùVÐTö] aeFîç¥Ì^» %Ü™ö» Zõ_ c÷[ý :
VÇ×+Oô aeFîçÌ[ý [ýÊc÷wø] %çÌ[ý lÇùVÐTö] aeFîçÌ[ý ×[ýãÌ̂ çGZõ_ c÷_ :
a) 99 b) 98 c) 89 d) None of these

A$RôOçC Xc÷Ì̂  / AEõ×$RôOC Xç
94. How many line segments can be seen in this figure ?

×$Jôyä$RôOçTö ]ÇPö ×Eõ]çX$RôOç å»FçF‰ø %çä$K÷ ?
×Jôy×OôåTö å]çOô EõTö×Oô åÌ[ýFçV‰ø %çäK÷ ?
a) 6 b) 12 c) 15 d) 18

95. Which of the following statements is correct ?
Tö_» åEõçXä$RôOç QöO×Nþ aTöî ?
XÝäJôÌ[ý åEõçX =×Nþ×Oô aTöî ?
a) 200 < 225 b) 225 < 200 c) 225 > 250 d) 250 < 225

96. Write the numbers 7000 + 80 + 1 in the short form ?
7000 + 80 +1 » ae×lùŠ »ÖYä$RôOç c÷_ :
7000 + 80 +1 Ì[ý ae×lùŠ Ì[ý»ÖY c÷_ :
a) 781 b) 70801 c) 7081 d) 7801
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97. The capacity of each glass is 750 ml. What is the total capacity of 10 such glasses ?
A$RôOç ×G_ç$$Jô» Wý»S lù]Töç 750 ×]. ×_. c÷ã_ 10 $RôOç ×G_ç$Jô» Wýç»S lù]Töç ×Eõ]çX ?
AEõOôç GÀçãaÌ[ý WýçÌ[ýX lù]Töç 750 ×].×_. c÷ã_, 10 Oôç GÀçãaÌ[ý WýçÌ[ýX lù]Töç EõTö ?
a) 7500 l. (×_.) b) 7 l.(×_.) 500 ml.(×].×_.) c) 750 ml. (×].×_.) d) 75 ml. (×].×_.)

98. Which of the following fractions is equivalent to 2
7

Tö_» åEõçXä$RôOç \öGÂçe` 2
7

 » a]çX ?

XÝäJôÌ[ý åEõçX \öGÂçe` 2
7

 AÌ[ý a]çX ?

a) 16
49

b) 14
49

c) 18
64

d) 4
28

99. Anil packed 1000 apples into 9 boxes equally. How many apples were not packed ?
%×Xã_ 1000 $RôOç %çãY_ 9 $RôOç [ýçEõ$JôTö a]çX\öçã[ý \ö»çã_ ×Eõ]çX$RôOç %çãY_ X\öã»ç¾çêEõ Uç×Eõ ^ç[ý ?
%×X_ 1000 ×Oô %çãY_ 9 ×Oôô[ýçãj a]çX\öçã[ý \öÌ[ýçã_ EõTö×Oô %çãY_ [ýçãjÌ[ý [ýç+åÌ[ý UçEõã[ý ?
a) 1 b) 6 c) 6 d) 10

100.What number must be multiplied by 0.1 to give 3 ?
åEõçXä$RôOç aeFîçEõ 0.1 å» YÉ»S Eõ×»ã_ 3 c÷’[ý ?
åEõçX aeFîçãEõ 0.1 ¥çÌ[ýç YÉÌ[ýS EõÌ[ýã_ 3 c÷ã[ý ?ôô

a) 30 b) 10 c) 100 d) 300

***********
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